Name: ___________________________________ Period: _______ Date: ________
Chapter 7 Review Handout
Write the polynomial in standard form. Then name the polynomial based on its degree and number of terms.

1.) 4x2y3 – x3y + 3x2y4 – 2x2y3 + xy



2.) 3h3 – 2 – 2h2 – 3h3 
Find the area of the shaded region. 
3.) 


2x – 1 



3x - 1
                                      x                3x + 4

Simplify the sum or difference.

4.) (5x2 – 7x – 7) – (2x2 – 6x – 5) 



5.) (4w3 + 4w2 + 2) – (6w3 – 2w + 8)
Find the product. 
6.) (x – 1)(2x + 3)(x – 4)




7.) (4k + 6)(3k – 5)
8.) (3x – 4)(-5 – 4x)




9.) (x – 5)(x2 – 3x + 5)
10.) (3x – 5y3)2





11.) (2x + 3)(7 – 3x)
Factor.

12.) 3w3 + 54w2 + 231w




13.) 2x2 – 12x – 50






14.) 12d2 – 7d – 10 





15.) 20x2 + 22x – 12 
16.) 8g3 + 12g2 – 10g – 15




17.) 6g2 – 13g + 6 
18.) 16x2 + 24x + 9





19.) 49b2 – 36 

20.) 21x2 + 55x + 14




21.) 3x5 – 3x3 +x2 - 1

Find the zeros of the polynomial function.
22.) f(x) = (x – 8)(2x – 4)(x + 2)

23.) f(x) = 3x(x – 1)(x2 + 7x + 6)

Write the equation of the polynomial function that has zeros:

24.) at x = 8, 3, -1  in FACTORED form

25.) at x = -2, 0, 5 in STANDARD form

Short Answer.
26.) What do the zeros of a polynomial function represent? 

27.) Explain how you factor 6x2 + 5x – 4.

Answer Key
1.) 3x2y4 + 2x2y3 – x3y + xy; 6th degree 4 term polynomial  
2.) -2h2 – 2;  quadratic binomial
3.) 3x2 + 6x – 4



4.) 3x2 – x – 2


5.) -2w3 + 4w2 + 2w – 6

6.) 2x3 – 7x2 – 7x + 12


7.) 12k2 – 2k – 30


8.) -12x2 + x + 20

9.) x3 – 8x2 + 20x – 25

10.) 25y6 – 30xy3 + 9x2

11.) -6x2 + 5x + 21

12.) 3w(w + 11)(w + 7)


13.) Not factorable!

14.) (3d + 2)(4d – 5)

15.) 2(5x – 2)(2x + 3)


16.) (4g2 – 5)(2g + 3)

17.) (2g – 3)(3g – 2)

18.) (4x + 3)2



19.) (7b – 6)(7b + 6)

20.) (3x + 7)(7x + 2)

21.) (3x3 + 1)(x – 1)(x + 1)

22.) x = 8, 2, -2


23.) x = -6,-1, 0, -1, 1
24.) f(x) = (x – 8)(x – 3)(x + 1)
25.) f(x) = x3 – 3x2 – 10x



26.) The zeros of a polynomial graph are the x-intercepts of the graph.

27.) First you would multiply a and c, which is 6(-4) = -24. Then you would find the factors of -24 that add together to give you b, which is a positive 5. These factors are 8 and -3. Then make your factor box and take out the GCF of each row and column. This gives you your two binomials which are (3x + 4)(2x – 1). 
